R5.3.1 Bl SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
ik 48, 457| 109, 435] 53, 242] 56, 193 31 -55]  -102 37 139 471 409 362 0 126 126
HI—TH 699 1,487 725 762 -2 -2 -1 0 1 0 4 4 -1 0 1
FLl T H 561 1,288 636 652 -3 -8 -3 0 3 -1 2 3 —4 0 4
LI =TH 461 1,039 503 536 3 3 0 0 0 2 5 3 1 1 0
SLbAEH 1, 7210 3,814 1,864 1,950 =2 -7 —4 0 4 1 11 10 —4 1 5
Sk —TH 474 937 438 499 -3 -7 1 1 of -10 2 12 2 2 0
. = 723 1,715 820 895 -5 -8 -1 0 1 —6 2 8 -1 0 1
SR —TH 548[ 1,286 615 671 0 -3 -2 0 2 0 5 5 -1 0 1
S AT H 400 891 436 455 -1 0 0 0 0 -2 0 2 2 2 0
ot T H 611 1,316 636 680 -1 -12 -2 0 2 -5 2 7 -5 0 5
BN T B 241 508 253 255 1 1 0 0 0 1 1 0 0 0 0
ARt TH 646| 1,656 803 853 2 —4 -1 0 1 0 5 5 -3 0 3
oA\ T H 386 847 394 453 -3 -6 -3 0 3 -1 1 2 -2 1 3
IV B 612 1,452 712 740 3 5 —4 0 4 3 5 2 6 6 0
B ndaatl 4,641 10,608 5,107[ 5,501 -7 34| -12 1 130 -20 23 43 -2 11 13
e n—1H 353 808 396 412 0 0 -1 0 1 1 2 1 0 0 0
sk T AL 1,012 2,106] 1,063 1,043 5 2 -1 0 1 0 3 3 3 3 0
HHk o —TH 676| 1,388 688 700 -3 -8 -1 0 1 -5 1 6 -2 1 3
Wk A AEEL 2,041 4,302] 2,147| 2,155 2 -6 -3 0 3 —4 6 10 1 4 3
Mt A — T H 553 1,255 613 642 6 14 -1 1 2 14 14 0 1 1 0
ek R _TH 359 917 468 449 1 -3 -1 0 1 -2 1 3 0 0 0
Mk R =TH 256 549 284 265 -2 -5 -1 0 1 -2 0 2 -2 0 2
ik L G| 561 1,301 661 640 3 4 -2 0 2 5 7 2 1 1 0
msEr aaEtl 1,729 4,022] 2,026 1,996 8 10 -5 1 6 15 22 7 0 2 2
TEIT) 369 851 410 441 1 4 -2 0 2 1 1 0 5 5 0
HOEEN— T H 206 429 209 220 -2 -3 -1 0 1 -6 0 6 4 4 0
HOEE T H 419 934 456 478 2 -3 -1 1 2 2 5 3 -4 0 4
HoEEI =T H 688 1,696 836 860 1 -5 0 0 0 -3 4 7 -2 0 2
HOEEAN T H 806 2,031| 1,006 1,025 -3 2 -1 0 1 -3 1 4 6 6 0
HEROH T H 438 1,018 513 505 -3 —4 0 0 0 —4 0 4 0 0 0
HOEEIS T H 395 882 431 451 -3 —4 1 1 0 -5 0 5 0 0 0
HoEEOETH 673 1,453 710 743 -2 -5 -3 0 3 -2 4 6 0 0 0
HOEESOSER 3,625| 8,443 4,161| 4,282 -10]  -22 -5 2 7 21 14 35 4 10 6
PEEE| 1,5120 2,785 1,328 1,457 2 0 -5 2 7 6 11 5 -1 0 1
FHIAR 298 626 325 301 -2 -2 -1 1 2 -1 2 3 0 0 0
EE g —T 549l 1,120 516 604 0 -3 0 1 1 -3 1 4 0 0 0
EE g — T 257 514 258 256 -2 -7 0 0 0 -2 0 2 -5 0 5
R =T H 5271 1,160 582 578 0 -2 -1 0 1 0 1 1 -1 0 1
TEE Py T 634 1,291 610 681 -1 -5 0 1 1 -7 2 9 2 3 1
EEP g R T H 235 535 270 265 0 1 0 0 0 1 1 0 0 0 0
HEER A2 2 202! 4,620]  2,236] 2,384 -3 -16 -1 2 3 -11 5 16 -4 3 7
EEIARRT— T H 688 1,382 649 733 6 10 0 0 0 3 6 3 7 7 0
EEIARRT T H 657 1,277 592 685 1 -1 -1 1 2 4 10 6 —4 0 4
EEOARRTAE| 1,345 2,659 1,241 1,418 7 9 -1 1 2 7 16 9 3 7 4
RPN 272 772 418 354 -3 -1 -1 0 1 -2 0 2 2 0
WHR—TH 720l 1,643 809 834 5 14 1 1 0 7 10 3 6 0
WOOR T H| L 747 3,977 1,924] 2,053 -3 -7 -3 1 4 7 20 13 -11 5 16
WHR=TH 868 2,215 1,081 1,134 -2 -2 -2 0 2 -2 0 2 2 3 1
HHRIT H 493 1,174 555 619 5 9 1 1 0 3 0 5 5 0
HPREEE 3,828 9,009 4,369 4,640 5 14 -3 3 6 15 33 18 2 19 17

HiR—TH 702 1,553 753 800 12 7 -1 0 1 8 13 0 4

IHR_"TH 926 2,211] 1,102] 1,109 —4 -10 —6 0 6 1 -5 1

PR =TH 493 1,050 533 517 2 5 0 0 0 0 5 5
dbrpiR&a 2,121 4,814] 2,388| 2,426 10 2 -7 0 7 9 22 13 0 10 10

T IROBTHT 326 811 391 420 0 -5 1 1 0 -6 1 7 0 0

el 1,609 5,094 2,271 2,823 1 -1 -8 0 8 6 18 12 1 1

M E T H 735 1,702 822 880 2 1 0 2 2 1 6 5 0 3
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An Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 764l 1,821 913 908 -1 0 0 1 1 1 5 4 -1 2 3
MoE =1 H 646 1,509 749 760 0 -3 0 1 1 2 5 3 -5 0 5
A EN T H 936 2,219] 1,043 1,176 3 -5 0 5 7 11 4 1 2 1
RCENNE 657 1,488 733 755 3 7 0 1 1 11 18 7 —4 0 4
MAEST H 420 986 459 527 -1 -2 -3 0 3 2 4 2 -2 0 2
mAlEaa 4,158 9,725] 4,719] 5,006 9 6 -8 5 13 24 49 25| -11 7 18
VEPe R 560[ 1,123 553 570 -1 -2 -3 0 3 0 3 3 1 1 0
e —TH 322 695 330 365 0 -2 0 0 0 -2 3 5 0 0 0
hge— T H 596 1,322 625 697 -3 -8 -6 0 6 -1 1 2 -1 0 1
A gl 918 2,017 955| 1,062 -3 -10 -6 0 6 -3 4 7 -1 0 1
E— 1 H 330 707 371 336 -7 -8 0 0 0 -6 18 24 -2 0 2
B — T H 639 1,366 651 715 0 0 0 -1 4 5 1 3 2
=T H 408l 1,065 530 535 5 7 3 0 4 6 2 0 1 1
EAEr 1,377 3,138 1,552| 1,586 -1 -1 3 0 -3 28 31 -1 4 5
e —TH 380 919 431 488 -5 -7 -1 0 1 -1 2 3 -5 0 5
WHE T H 441 1,087 544 543 0 0 1 1 0 0 1 1 -1 1 2
HWHE =T H 818 2,001 1,024 977 4 10 -2 1 3 1 6 5 11 12 1
W& T B 447 1,029 502 527 0 -3 0 0 0 -3 1 4 0 0 0
B E ] H 821l 1,778 871 907 2 6 -6 0 6 11 15 4 1 2 1
HHIENT H 245 510 258 252 1 1 0 0 0 1 1 0 1 1 0
HE SR 3,162 7,324| 3,630 3,694 2 7 -8 2 10 9 26 17 7 16 9
<HWE—TH 601fl 1,368 664 704 0 -5 -3 0 3 -1 5 6 -1 0 1
<HEIL—TH 716 1,479 722 757 1 2 -1 1 2 3 5 2 0 0 0
SHBEIL=TH 5251 1,153 561 592 4 6 2 2 0 3 5 2 1 1 0
<HEWLPTH 576 1,186 585 601 2 1 -1 0 1 3 9 6 -1 1 2
<O T H 291 652 352 300 -2 -5 0 0 0 -1 0 1 —4 0 4
<WEEEH 2,709 5,838 2,884 2,954 5 -1 -3 3 6 7 24 17 -5 2 7
WIE AR —TH 785 1,694 840 854 0 -5 -3 0 3 —4 6 10 2 5 3
WIEAR T H 475 1,136 582 554 -3 -2 2 2 0 -5 1 6 1 2 1
PIEARTSE 1,260 2,830] 1,422 1,408 -3 -7 -1 2 3 -9 7 16 3 7 4
LWl E 391 751 359 392 -1 -1 -1 0 1 2 6 4 -2 0 2
ek a—TH|[ 1,087 1,752 807 945 3 11 2 3 1 9 22 13 0 2 2
e T H 443 744 369 375 21 25 0 0 20 24 4 5 5 0
kR =T H 674 1,722 810 912 1 1 0 2 2 0 1 1 1 3 2
sk BRI H 406 854 409 445 -5 -6 -1 0 1 -3 3 6 -2 0 2
o aaEl 2,610 5,072 2,395 2,677 20 31 5 4 26 50 24 4 10 6
FRIREET 20 53 28 25 0 -1 0 0 0 0 0 0 -1 0 1
B 745 1,721 825 896 -8  -13 -6 0 6 -9 3 12 2 2 0
VEEE 321 732 333 399 1 -1 -2 0 2 1 2 1 0 1 1
e — T H 457 1,121 555 566 4 -1 -2 0 2 1 2 1 0 0 0
e T H 407 920 448 472 0 1 -1 0 1 2 5 3 0 0 0
oo B R 864 2,041| 1,003| 1,038 4 0 -3 0 3 3 7 4 0 0 0
P — T H 674 1,376 690 686 2 6 -2 1 3 7 12 5 1 1 0
P T H 538| 1,296 612 684 -3 —6 -2 2 4 -1 1 2 -3 0 3
WA s 1,212 2,672 1,302] 1,370 -1 0 —4 3 7 6 13 7 -2 1 3
P e 317 682 342 340 -1 —4 -1 0 1 -3 1 4 0 0 0
BEHIR 204 486 258 228 0 -3 -3 0 3 1 1 0 -1 0 1




